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(OYLQD�$GL�<DQWL� ����� ³6WUDWHJL�3HQJHPEDQJDQ�7HUPLQDO�*HUEDQJ�
6DUL� .DEXSDWHQ� ,QGUDJLUL� +XOX´� 6NULSVL� 3DGDQJ�
3URJUDP� 6WXGL 3HQGLGLNDQ� *HRJUDIL� -XUXVDQ� *HRJUDIL�
)DNXOWDV ,OPX�6RVLDO 8QLYHUVLWDV�1HJHUL 3DGDQJ�

3HQHOLWLDQ��LQL� EHUWXMXDQ��XQWXN�PHQJHWDKXL� 6WUDWHJL�SHQJHPEDQJDQ�
7HUPLQDO� *HUEDQJ 6DUL� .DEXSDWHQ� ,QGUDJLUL� +XOX� DJDU� EHUIXQJVL� VHFDUD�
RSWLPDO�GLNDML�GDUL�VHJL�NHNXDWDQ��NHOHPDKDQ��SHOXDQJ�GDQ�DQFDPDQ��-HQLV
SHQHOLWLDQ� LQL DGDODK� SHQHOLWLDQ� GHVNULSWLI� GHQJDQ� SHQGHNDWDQ� NXDOLWDWLI��
3HQHOLWLDQ LQL GLODNVDQDNDQ GL 7HUPLQDO� *HUEDQJ� 6DUL� .DEXSDWHQ�
,QGUDJLUL�+XOX�

7HNQLN SHQJXPSXODQ GDWD PHOLSXWL� REVHUYDVL�� ZDZDQFDUD� GDQ
GRNXPHQWDVL� 7HNQLN� SHQJDPELODQ� LQIRUPDQ DGDODK� VHFDUD� 3XUSRVLYH�
6XPSOLQJ�� � 6XPEHU� � GDWD� SHQHOLWLDQ� � DGDODK� � GDWD� VHNXQGHU� � GDQ� � GDWD�
SULPHU� GDWD VHNXQGHU EHUVXPEHU GDUL LQVWDQVL 'LQDV�3HUKXEXQJDQ GDQ GDWD�
SULPHU GDUL LQIRUPDQ GL ODSDQJDQ� 7HNQLN DQDOLVLV� GDWD \DQJ GLJXQDNDQ
DGDODK�UHGXNVL GDWD��GLVSOD\ GDWD GDQ�NHVLPSXODQ�

%HUGDVDUNDQ� KDVLO SHQHOLWLDQ� PHQXQMXNNDQ EDKZD VWUDWHJL�
SHQJHPEDQJDQ� WHUPLQDO� DGDODK � �� 0HQLQJNDWNDQ� SHOD\DQDQ� NHDPDQDQ�
GDQ� NHQ\DPDQDQ� WHUPLQDO �� 2SWLPDOLVDVL� IXQJVL� GDQ� SHUDQ� WHUPLQDO� ���
3HQLQJNDWDQ� SHQHJDNDQ� KXNXP�� �� %HNHUMD� VDPD� GHQJDQ� SHPHULQWDK�
.DEXSDWHQ� ,QGUDJLUL� +XOX� GDODP SHQHUWLENDQ� WHUPLQDO� ED\DQJDQ�� ��
3HUEDLNL� NRQGLVL� ILVLN� WHUPLQDO�� GDQ� ��� 3HQLQJNDWDQ� NHGLVSOLQDQ� SDUD�
SHQJJXQD�WHUPLQDO��

.DWD .XQFL� 3HQJHPEDQJDQ� 7HUPLQDO� *HUEDQJ�6DUL�.DEXSDWHQ�,QGUDJLUL�
+XOX


